Textbook p. 78 Answer Key

1) 
2
2)
3

3)
2
4) 
1
5)
1
6) 
1 (will not be tested)
7) 
3
8)
3

9)
2
10) 
1
11)
100 feet/ .5 miles = 200.0 feet/mile
12)
There are few contour lines present or large distance between contour lines
13)
Left of 19, right of 43, right off 33 and left of 17

14) 
Syracuse (need to use your ESRT)
15)
10 m
16)
40 meters / 2 km = 20.0 m/km
17)
Should look like a backwards check mark
18)
50 looks similar to 0; 100 and 150 will make circles
19)
Inverse
20)
Set up monitoring stations to check for leaks (will not be tested)
